void setup()

pi nMode( 1, | NPUT),;
pi nMode( 2, | NPUT) ;
pi nMode( 3, | NPUT) ;
pi nMode( 4, | NPUT),;
pi nMode( 5, | NPUT) ;
pi nMode( 6, | NPUT) ;
pi nMode( 7, | NPUT);
pi nMbode( 8, OUTPUT) ;
pi nMbde( 9, OUTPUT) ;
pi nMode( 10, OUTPUT);
pi nMbde( 11, OUTPUT);
pi nMode( 12, | NPUT);

pi nMode( 13, OUTPUT);



vold loop ()

gf (1 == HIGH)

{

digital Wite(11l, H GH);
}  else

{

digitalWite(13, H GH);
del ay(1);
digitalWite(13, LOW,;
}

1f (2 == HIGH)

{

digital Wite(1l, LOW;
}  else

{

digital Wite(13, H &H);
del ay(1);

digital Wite(13, LOW,;
}

1f (12 == HIGH && 3 ==
{

digitalWite(8, H G&H),;

HIGH)



digital Wite(10, LOW,;
digital Wite(9, LOW,;

}  else

{

digitalWite(13, H G&H);

del ay(1);

digital Wite(13, LOW;

}

if (12 == HIGH && 4 == HIGH)
{

digital Wite(10, H GH);
digital Wite(8, LOW;
digital Wite(9, LOW;

}  else

{

digitalWite(13, H G&H);

del ay(1);

digital Wite(13, LOW;

}

1f (12 == HIGH && 5 == HIGH)
{

digital Wite(10, H GH):
digital Wite(8, LOW:
digital Wite(9, LOW:;



}  else

{

digital Wite(13, H &H);
del ay(1);

digital Wite(13, LOW,;

1f (12 == LOW && 6 == HIGH)
{

digitalWite(8, LOW,;
digital Wite(10, H GH);
digitalWite(9, H G&H);

}  else

{

digitalWite(13, H G&H);
del ay(1);

digital Wite(13, LOW;
}

1f (12 == LOW && 7 == HIGH)
{

digitalWite(8, LOW,;
digital Wite(10, H &H);
digital Wite(9, LOW,;

}  else



{

digital Wite(13, H GH);
del ay(1);

digital Wite(13, LOW;
}

}



